

Teil-Teil-Ganzes | Zehnerübergang



$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$

$$\bigcirc + \begin{array}{c} \bigcirc \\ \swarrow \quad \searrow \\ \bigcirc \quad \bigcirc \end{array} = \bigcirc$$